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COORDINATE GEOMETRY

Coordinate Geometry

1. Point (-3,5) lies in the

A. first quadrant

B. second quadrant

C. third quadrant

D. fourth quadrant

Answer: B

W t h Vid S l ti

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_zQ3lH9nZgwON


Watch Video Solution

2. Signs of the abscissa and ordinate of a point in the second quadrant

are respectively.

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution
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−, +
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3. Point (0,-7) lies

A. on the X-axis

B. in the second quadrant

https://dl.doubtnut.com/l/_zQ3lH9nZgwON
https://dl.doubtnut.com/l/_7srUN05HYVNC
https://dl.doubtnut.com/l/_ABrnpIDPYN3u


C. on the Y-axis

D. in the fourth quadrant

Answer: C

Watch Video Solution

4. Point (-10,0) lies

A. on the negative direction on the X-axis

B. on the negative direction of the Y-axis

C. in the third quadrant

D. in the fourth quadrant

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_ABrnpIDPYN3u
https://dl.doubtnut.com/l/_SHpka5XvLHSL


5. Abscissa of all the points on the X-axis is

A. 0

B. 1

C. 2

D. any number

Answer: D

Watch Video Solution

6. Ordinate of all points on the X-axis is

A. 0

B. 1

C. 

D. any number

−1

https://dl.doubtnut.com/l/_8Tn1UDzWG5p2
https://dl.doubtnut.com/l/_mIPOKbtCwvbq


Answer: A

Watch Video Solution

7. The point at which the two coordinate axes meet is called the

A. abscissa

B. ordinate

C. origin

D. quadrant

Answer: C

Watch Video Solution

8. A point both of whose coodinate are negative will be in

A. I quadrant

https://dl.doubtnut.com/l/_mIPOKbtCwvbq
https://dl.doubtnut.com/l/_0U3fUIRW33VD
https://dl.doubtnut.com/l/_dAp8WQEGQnZm


B. II quadrant

C. III quadrant

D. IV quadrant

Answer: C

Watch Video Solution

9. Points 

A. lie in II quadrant

B. lie in III quadrant

C. lie in IV quadrant

D. do not lie in the same quadrant

Answer: D

Watch Video Solution

(1, − 1), (2, − 2), ( − 3, − 4), (4, − 5)

https://dl.doubtnut.com/l/_dAp8WQEGQnZm
https://dl.doubtnut.com/l/_SZOMAnvtYWOu
https://dl.doubtnut.com/l/_vRg28VQGLvdl


10. If y-coordinate of a point is zero, then this point always lies

A. in I quadrant

B. in II quadrant

C. on X-axis

D. on Y-axis

Answer: C

Watch Video Solution

11. The point (-5,2) and (2,-5) lie in the

A. same quadrant

B. II and III quadrants , respectively

C. II and IV quadrants , respectively

D. IV and II quadrants, respectively

https://dl.doubtnut.com/l/_vRg28VQGLvdl
https://dl.doubtnut.com/l/_9l0Uu1sL4xXp


Answer: C

Watch Video Solution

12. If the perpendicular distance of a point P from the X-axis is 5 units and

the foot of the perpendicular lies on the negative direction of X-axis then

the point P has

A. x-coordinate =-5

B. y-coordinate =5 only

C. y-coordiante=-5 only

D. y-coordinate =5 or -5

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_9l0Uu1sL4xXp
https://dl.doubtnut.com/l/_N88SnBNM3snX


13. On plotting the points 0(0,0),A(3,0),B(3,4), C(0,4) and joining 0A, AB BC

and C0 . Which of the following figure is obtained?

A. Square

B. Rectangle

C. Trapezium

D. Rhombus

Answer: B

Watch Video Solution

14. If P(-1,1), Q(3,-4), R(1,-1), S(-2,-3) and T(-4,4)are plotted on the graph

paper, then the point(s) in the fourth quadrant is/are

A. P and T

B. Q and R

C. Only S

https://dl.doubtnut.com/l/_qmmksvahea2t
https://dl.doubtnut.com/l/_Xea4BkVupQ35


D. P and R

Answer: B

Watch Video Solution

15. If the coordinates of the two points are  and  ,

then (Abscissa of P) (Abscissa of Q) is

A. 

B. 1

C. 

D. 

Answer: B

Watch Video Solution

P ( − 2, 3) Q( − 3, 5)

−

−5

−1

−2

https://dl.doubtnut.com/l/_Xea4BkVupQ35
https://dl.doubtnut.com/l/_VuyVfVNYt9HS


16. If P(5,1), Q(8,0), R(0,4), S(0,5) and 0(0,0) are plotted on the graph paper,

then the point(s) on the X-axis is/are

A. P and R

B. R and S

C. Only Q

D. Q and O

Answer: D

Watch Video Solution

17. The abscissa of a point
is positive in

A. I and II quadrants

B. I and IV quadrants

C. I quadrant

D. II quadrant

https://dl.doubtnut.com/l/_Nrs0PnewVibs
https://dl.doubtnut.com/l/_sAEDm43awdG8


Answer: B

Watch Video Solution

18. The points whose abscissa and ordinate have different signs will lie in

A. I and II quadrants

B. II and III quadrants

C. I and III quadrants

D. II and IV quadrants

Answer: D

Watch Video Solution

19. In following figure, coordinates of P are 

https://dl.doubtnut.com/l/_sAEDm43awdG8
https://dl.doubtnut.com/l/_K6Z84F2ehQNk
https://dl.doubtnut.com/l/_zr4JqppqlPVo


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

( − 4, 2)

( − 2, 4)

(4, − 2)

(2, − 4)

https://dl.doubtnut.com/l/_zr4JqppqlPVo


20. In following figure, the point identified by the coordinates (-5,3) is 

A. T

B. R

C. L

D. S

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_Jm5LRhaJ6XRY


21. The point whose ordinate is 4 and which lies on y-axis is

A. (4,0)

B. (0,4)

C. (1,4)

D. (4,2)

Answer: B

Watch Video Solution

22. Which of the points P(0,3), Q(1,0), R(0,-1),S(-5,0) and T(1,2) do not lie on

the X-axis ?

A. P and R only

B. Q and S only

C. P,R and T

https://dl.doubtnut.com/l/_Jm5LRhaJ6XRY
https://dl.doubtnut.com/l/_oA4DrAhmUvme
https://dl.doubtnut.com/l/_hdabc8syDwUV


D. Q,S and T

Answer: C

Watch Video Solution

23. The point which lies on Y-axis at a distance of 5 units in the negative

direction of Y-axis is

A. (0,5)

B. (5,0)

C. (0,-5)

D. (-5,0)

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_hdabc8syDwUV
https://dl.doubtnut.com/l/_jTQwryayO3gv


24. The perpendicular distance of the point P(3,4) from the Y-axis is

A. 3

B. 4

C. 5

D. 7

Answer: A

Watch Video Solution

25. Write whether the following are true or false ? Justify your answer. 

(i) Point (3,0) lies in the first quadrant. 

(ii) Points (1,-1) and (-1,1) lie in the same quadrant. 

(iii) The coordinate of a point whose ordinate is -  and abscissa is 1 are 

. 


(iv) A point lies on Y-axis at a distance of 2 units from the X-axis. Its

1

2

( − , 1)
1

2

https://dl.doubtnut.com/l/_ylgnBcwFNZVc
https://dl.doubtnut.com/l/_fxeQLfCBkV2e


coordinate are (2,0). 

(v) (-1,7) is a point in the second quadrant.

Watch Video Solution

26. Write the coordinate of each of the points P,Q, R,S,T and O from the

figure 

Watch Video Solution

https://dl.doubtnut.com/l/_fxeQLfCBkV2e
https://dl.doubtnut.com/l/_tGHEgfdNcC76


27. Plot the following points and write the name of the figure obtained by

joining , them in order p(-3,2), Q(-7,-3), R(6,-3) and S(2,2).

Watch Video Solution

28. Plot the points  given by the following table. 


Watch Video Solution

(x, y)

x 2 4 −3 −2  3 0

y 4 2  0  5 −3 0

29. Plot the following points and check whether they are collinear or not 

(i) (1,3), (-1,-1), (-2,-3) (ii) (1,1), (2,-3), (-1,-2) 


(iii) (0,0),(2,2), (5,5)

Watch Video Solution

        

https://dl.doubtnut.com/l/_uYpevjQN0fKO
https://dl.doubtnut.com/l/_RTJ8H3z5ueg2
https://dl.doubtnut.com/l/_bFRiiMLV8QX2


30. Without plotting the points indicate the quadrant in which they will

lie, if 

(i) ordinate is 5 and abscissa is -3. 

(ii) abscissa is -5 and ordinate is -3. 

(iii) abscissa is -5 and ordinate is 3 . 

(iv) ordinate is 5 and abscissa is 3.

Watch Video Solution

31. In figure LM is a line parallel to the Y-axis at a distance of 3 units . 

(i) What are the coordinates of the points P,R and Q ? 

https://dl.doubtnut.com/l/_wptV39tDfUuV
https://dl.doubtnut.com/l/_oB7KrOyzGdec


(ii) What is the difference between the abscissa of the points L and M ? 

Watch Video Solution

32. In which quadrant or on which axis each of the following points lie? 

(-3,5),(4,-1),(2,0),(2,2),(-3,-6)

https://dl.doubtnut.com/l/_oB7KrOyzGdec
https://dl.doubtnut.com/l/_EeUV2waeIOWc


Watch Video Solution

33. Which of the following point lies on Y-axis ?

Watch Video Solution

A(1, 1), B(1, 0), C(0, 1), D(0, 0), E(0, − 1), G(0, 5), H( − 7, 0)  and I(3

34. Plot the points  given by the following table. Use scale 1 cm=0.25

unit. 

Watch Video Solution

(x, y)

x 1.25 0.25 1.5 −1.75

y −0.5 1 1.5  0.25

35. A point lies on positive direction of X-axis at a distance of 7 units from

the Y-axis . What are its coordinates? What will be the coordinates, if it

lies on negative direction of Y-axis at a distance of 7 units from X-axis ?

Watch Video Solution

https://dl.doubtnut.com/l/_EeUV2waeIOWc
https://dl.doubtnut.com/l/_y3RvmL5t2Yny
https://dl.doubtnut.com/l/_yrfFsemObc9n
https://dl.doubtnut.com/l/_HucenvsJELI5


36. Find the coordinates of the point 

(i) which lies on X and Y-axes both. 

(ii) whose ordinate is -4 and which lies on Y-axis. 

(iii) whose abscissa is 5 and which lies on X-axis.

Watch Video Solution

37. Taking 0.5 cm as 1 unit, plot the following points on the graph paper

A(1,3), B(-3,-1),C(1,-4),D(-2,3). E(0,-8) and F(1,0).

Watch Video Solution

38. Points A(5,3), B(-2,3) and D(5,-4) are three vertices of a square ABCD .

Plot these points on a graph paper and hence , find the coordinate of the

vertex C.

Watch Video Solution

https://dl.doubtnut.com/l/_HucenvsJELI5
https://dl.doubtnut.com/l/_flOwiNTqgbEl
https://dl.doubtnut.com/l/_qKX3uT4vt8vw
https://dl.doubtnut.com/l/_KKqEBV0o6Dty


39. 23. Write the coordinates of the vertices of a rectangle whose length

and breadth are one 5 and 3 units respectively, one vertex at origin, the

longer side on the x-axis and of the vertices in the third quadrant.

Watch Video Solution

40. Plot point . Find the coordinates of  so

that  is a square.

Watch Video Solution

P (1, 0), Q(4, 0) and S(1, 3) R

PQRS

https://dl.doubtnut.com/l/_ATlZwNTzYWKC
https://dl.doubtnut.com/l/_l4ifvDDQYsQp


41. From the given figure, answer the following questions 

 


(i) Write the points whose abscissa is 0. 

(ii) Write the points whose ordinate is 0. 

(iii) Write the points whose abscissa is -5.

Watch Video Solution

42. Plot the points A(1,-1) and B(4,5). 

(i) Draw the line segment joining these points. Write the coordinates of a

https://dl.doubtnut.com/l/_rm4looS4nad9
https://dl.doubtnut.com/l/_4bdWZQFwCzC9


point on this line segment betwee the points A and B. 

(ii) Extend this line segment and write the coordinates of a point on this

line which lies outside the line segment AB.

Watch Video Solution

https://dl.doubtnut.com/l/_4bdWZQFwCzC9

